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The figures in the margin indicate full marks
for the questions

1. oo il 2R Sug o 1x8=8

Answer the following questions :

(@) 2011 74 (EIRPEE FPIR SIS AFFIOR
29 e 2

What is the literacy rate of India
according to the Population Census,
20117
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(2)

(b) 2011 o7d CET(E] SPIN TP & Gl
2

What is the density of population of
Assam according to the Population
Census, 20117

(c) A ~REER @Bl G S B |

Write one major objective of Twelfth
Plan.

(d) 3= ST @b TP a9 |

Mention one problem of shifting
cultivation.

(e) RUSA- oy o foran |
Write the full form of RUSA.

() TN PR QRN AW B o

SCEHAT |
Suggest one measure for eradicating
disguised unemployment.
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(3)

(g) SRS F'T AN JEA IQq (TF CNEIOE
Floe 0 (3R ?

Where the first public sector oil
refinery in India was set up?

(h) TG S o SoeR Qb1 el Sra T4 |

Mention one advantage of small-scale
industry and cottage industry.

2. fi @ica sifeR 5 G foran (aifscer 150 *=
©oq9) : 4x4=16

Write short notes on any four (within
150 words each) :

(@) R S AR wiR@er

Absolute and relative poverty

(b) FR R2EE TP

Problems of agricultural marketing

(c) SRS el 13 2ifevrre e s

Disinvestment in public sector
undertakings in India
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(d) JAASF AH]

Economic reforms

(e) SRS AfCAerS STl

Ecological imbalance in India

T TR ©eq faqn (AfSeht 500 **m foogs) :

Answer the following questions (within
500 words each) :

3. (a) SR AT Fomafem Racy 3T a1 |
AP I TS A2 IR IR
v | 7+5=12 |

Describe the natural resources of
India. Point out the reasons for
improper utilization of the natural
resources.

%91 / Or

(b) SR Wi@el (TR A R 7 9q1
ST ofb TGS GrReT foray | 12
Write a critical note on the schemes

adopted by the Government for
poverty alleviation in India.
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4. (o) SRR A WA RFpre gReEE IwEa
QTG TCEGA T | PR 204 IR
f& o2 8+3=11

Discuss the importance of land
reform measures in the development -
of rural economy of India. What are
the main obstacles to land reforms?

5241/ Or

(b) TR G PR AR ST T A
a1 | R AT ST TR oy (O
opgrapf SIACeTT | 6+5=11

Discuss the problems of agricultural
labourers in our country. Put forward
your suggestions to solve the problems
of agricultural labourers.

5. (a) SRS “RIZI IJAER A4 AT SACBAT
41 | G3CARI TR A A0 SFRCCAT |
6+5=11
Discuss the main problems of
transport system in India. Give your
suggestions to solve the problems.
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<1 / Or

(b) ST Y SIS TN S STEare] i g
SISO P40 | 6+5=11

Discuss the problems and prospects
of small-scale industries of Assam.

6. (a) TR A offeq ST Rerr e
e TR [{EE O w49 | 6+5=11

Describe the causes and consequences
of slow pace of industrial development
in Assam.

&< / Or

(b) ©T-~jfieeTa A e Ao e aefa
91 Ao Tmee SR qfteE gy
S 3547 | 6+5=11

Describe the present status of border
trade in North-East India. Discuss

the importance of border trade in
¢conomic development.
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7. (o) ST Afwmm e & g oHeq

. SRS IR o1 SR PTHR I 41 |
4+7=11

What is meant by economic planning?
Explain the main objectives of
economic planning in India.

w2qr / Or

(b) Tfers (aaw Jferce 6 g 2 Sl (e
IEFPHR o1 TR AR A R
S5[CETT | 2+5+4=11

What is regional disparity? Mention .
the causes of regional disparity. Give
suggestions for its removal.

* # ook

) 4p—6000/911 4 SEM TDC ECO G 1

e



